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(1)Determine the node voltages v;, V2 and vs in the circuit in Fig. 1. (20%)
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(2)Find the Thevenin equivalent of the circuit in Fig. 2. (20%)
6Q
] l AN ‘ O«
< =
4A Q 60 2 40
g I L oy
Figure 2
(3)In Fig. 3, let ve=15 V. Find v, v,, and i,  for > 0. g (20%)
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(4)For Find v(?) and i(?) in the circuit shown in Fig. 4. (20%)
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Vs(t)=10cos5t, C=0.04 F, R=5 ohm

3
(5) The voltage across a 200-mH inductor is given by v($) =37 +2t+4V,
for > (0. Determine the current () through the inductor.
Assume that i(0) =1 A. | (20%)




